HARI VIDYA BHAWAN
CLASS- Nursery
SUBJECT — MATHEMATICS (Revision)
Date: 14-12-2020

General Instructions of worksheet::

1..please note from now onwards all worksheet should be completed in
notebook Or coursebook Or application book of respective subjects as according
to worksheet.

2..these worksheet will be considerd as your evaluation marks will be given on
completion else you will have to appear for pen paper test once the school
reopens.

3...Read every topic which will be given in worksheet of the chapter from your
course book.

4..All the students must purchase course book as it will enable you to
understand the chapter.

5..watch the video of related topic from your active app.

6...All queries regarding worksheet shall be resolved from 8 :00 am to 3:00pm.

Q1) Write counting from 1 to 30 in your maths copy.

Q2) Count and write.
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Q4) Learn the poem ‘one two buckle my shoes’.



HARI VIDYA BHAWAN
CLASS- KG
SUBJECT — MATHEMATICS ( Revision)

Date: 14-12-2020

Instructions of worksheet::

1..please note from now onwards all worksheet should be completed in
notebook Or coursebook Or application book of respective subjects
according to worksheet.

2..these worksheet will be considerd as your evaluation marks will be
given on completion else you will have to appear for pen paper test once
the school reopens.

3...Read every topic which will be given in worksheet of the chapter from
your course book.

4..All the students must purchase course book as it will enable you to
understand the chapter.

5..watch the video of related topic from your active app.

6...All queries regarding worksheet shall be resolved from 8 :00 am to
3:00pm.

Q1) Write number names from 1 to 20.
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Q2) Compare the numbers ( <, >, =)
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Q3) Count and add:-
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1)
2)
3)
4)
5)
6)
7)
8)

9)

3+1=

5+2=

8+2=

4+1=

9+1=

5+3=

3+2=

10) 3+3=
11) 2+3 =
12) 6+2=
13) 4+4 =
14) 6 +3 =
15) 3+6=
16) 7+3 =
17) 5+5=

18) 2+6 =



HARI VIDYA BHAWAN
CLASS :-1
MATHS REVISION WORKSHEET

Date :- 14.12.20 / Day :- Monday

Instructions :- Do this work in ur Maths notebook. Watch the video related to ch
8 and 9 on next curriculum app.

Q1l

Q2

:- Fill in the blanks..

I see a big Lion walking towards me .

| see a small monkey jumping on a tree.

| see a tall giraffe smiling at me.

| see a rhino with a short tail running towards a tree.
The lemon is lighter than an apple.

A book is heavier than an eraser.

An empty pencil box is lighter than an empty lunch box.
Saturday comes after Friday.

April comes before may.

August is the seventh month of the year.

68 just comes before 69.

97 just comes after 96.

The number name 75 is seventy five.

The number name 37 is Thirty seven.
99 just comes between 98 and 100.

:- Dodging tables.



Ul H W N = w

Q4

2x9=18
3x4=12
5x5=25
6x7=42
8x4=32
2x5=10
4x6=24
8x9=72
7x4=28
4x9=36

:- Missing numbers.

.2, 4, 6, 8, 10, 12, 14.

.13, 16, 19, 22, 25, 28, 31.
.24, 28, 32, 36, 40, 44, 48.
.40, 45, 50, 55, 60, 65, 70.
.84, 85, 86, 87, 88, 89, 70.

:- Addition and subtraction.

7+10=
8+5 =
15+12 =
9+15=
20+ 13 =



10-2=
20-8 =

35-12=__
46-23=
59-34=__

:- Fill in the blanks with vowels.

.NOVEMBER
.SUNDAY
.WEDNESDAY
JUNE
.OCTOBER
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HARI VIDYA BHAWAN
CLASS-II
SUBJECT- MATHS

REVISION -2

DATE-14-12-2020
INSTRUCTIONS OF WORKSHEET:

=  Please note that these revision worksheet is for periodic test-3.
= Do this in your notebook and and learn for periodic test that is from 21-12-2020.
= All queries regarding worksheet shall be resolved from 8:00am to 3:00 pm.

Q-1. Neela has 5 boxes of chocolates. Each box contain 8 chocolates. How many
chocolate are there in all?

Ans- 40 chocolates.

Q-2. A shopkeeper packs 7 sweet in a box. How many sweet will he pack in such
5 boxes ?

Ans- 30 sweets in 5 such boxes.

Q-3. Fill in the blanks.

a) 3x0=0 b)2 x1=1
) 7x1=7 d) 10 x 0 = 0

Q-4. Shikha buys 7 boxes of mangoes. Each box has 6 mangoes. What is the total
number of mangoes that Shikha bought?

Ans- 42 mangoes.
Q-5. Count the total number of fruit and vegetable seeds sown in the farm.

a) 90 lemon seeds + 30 lemon seeds = 120 lemon seeds.
b) 36 capsicum seeds + 47 capsicum seeds = 83 capsicum seeds.



c) 75 cucumber seeds + 48 cucumber seeds = 123 cucumber seeds.
d) 54 tomato seeds + 69 tomato seeds = 123 tomato seeds.

Q-6.Bindu and Rakesh collect 58 and 48 pebbles respectively. How many
pebbles have they collected?

Ans- Number od pebbles collected by Bindu = 58
Number of pebbles collected by Rakesh =48
Total number of pebbles collected = 58 + 48 = 106

Q-7. Rakesh sees 334 tundra swan and 123 mute swans in the sanctuary. How
many swans does he see in all?

Ans- Number of tundra swans = 334
Number of mute swans = 123
Total number of swans =334 + 123 =457
Q-8. Fill in the blanks-

a) 122 + 641 = 763
b) 564 - 153 = 411
c) 333 + 654 = 987
d) 210 + 111 = 321

Q-9. 312 Birds were sitting on a tree. 213 more birds join them. How many birds
are sitting on the tree now?

Ans- 515 birds are there now.

Q-10. Rahul has 24 bananas. His friend Akshay gives 10 bananas to him. How
many bananas does Rahul have now?

Do you need add or subtract to solve this words problem?

Ans- Add.



HARI VIDYA BHAWAN

CLASS-II

SUBJECT- MATHS

REVISION -1

DATE-14-12-2020

INSTRUCTIONS OF WORKSHEET:

Q-1. What is standard unit of measuring grams?
Ans- G

Q-2. What is the standard unit of kilograms?
Ans- Kg.

Q-3. The names of different objects are given here. Write the unit in which the
weight of each object is expressed (grams or kilograms)

a) A toothpaste Grams.
b) A small biscuit packet Grams.
c) A pumpkin Kilogram.
d) A jackfruit Kilogram.
Q-4. Tick the correct options.
a) Which holds more liquid?
i) A water bottle ii) A coffee cup
b) Which holds more liquit?

i) A bucket ii) Ajug



¢) Which one holds less liquid?
i) A bowl ii) A spoon

Q-5. Mary has to fill a barrel using a pot. The capacity of the barrel is 7 litres and
the capacity of the pot is 1 litre. How many pots of water will she need to fill the
barrel till the brim?

Ans — The capacity of the barrel is equal to the capacity of — 7 pots.
Q-6. Fill in the blanks with the correct option.

a) Raj buys 3 Kilograms of onions from a vegetable seller.

i) grams ii) kilograms iii) millimeters
b) Chetna buys a 2 L water bottle from a shop.

i) mm i) L iii) g

c) Rajesh filled 10 litres of fuel in his car.

i) grams i) litres iii) millimeters

i) millimeters ii) kilograms ili) grams

Q-7. Meera has 2 kilograms of apples in one bag and 4 kilograms of grapes in
another bag. Which bag is heavier?

Ans — Bag of grapes.

Q-8. Jyoti has 50 grams of popcorn and 10 grams of chocolate bars in her bag.
What is the total weight of the popcorn and chocolate bars?

Ans- 60 grams.
Q-9. Complete the pattern-

5, 10, 15, 20, - 25, 30, 35, 40.




Q-10. Fill in the blanks with the help of repeated addition-
a)4+4+4=12 b) 5+5+5+5+5=20

c)2+2+2+2+2=10 d) 6+6+6=18



HARI VIDYA BHAWAN
WORKSHEET-2
CHAPTER-12 (SYMMETRY AND PATTERNS)
CLASS-3
SUBJECT- MATHS
DATE: -14/12/2020

INSTRUCTIONS: -

1.) Please note from now onwards all worksheet should be
completed in notebook of respective subjects.

2.) These worksheets will be considered as your periodic test,
marks will be given on completion else you will have to appear for
pen paper test once the school reopens.

3.) Read every topic which will be given in worksheet of the chapter
from your course book.

4.) All the students must purchase course book as it will enable you
to understand the chapter.

5.) Watch the video of Chap-12 in the next curriculum app.

6.) All queries regarding worksheet shall be resolved from 8 :00 am
to 3:00pm.

EX-12.3 (DO Q1, Q2 AND Q3 IN BOOK PAGE NO-85 AND 86)
Q1) Tick (V) the tessellations patterns.
Ans: - a) (V) b) (x)






EX-12.3 (DO Q4 IN BOOK PAGE NO-87)




HARI VIDYA BHAWAN
REVISION WORKSHEET
CLASS-3
SUBJECT- MATHS
DATE: -14/12/2020

NOTE: - Do this revision worksheet in your maths notebook only.




DO PRACTICE ALL THESE QUESTIONS IN YOUR NOTEBOOK.




DO PRACTICE ALL THESE QUESTIONS IN YOUR NOTEBOOK







HARI VIDYA BHAWAN

CHAPTER-9 & 10
MATHEMATICS (Revision worksheet — 1)
Class — 4t
Date: 14-12-2020

Instructions:

Q1. Fill in the blanks.

(a) 4m 30cm =430 cm

(b) 4,200 m = 4000 m + 200 m = 4km + 200m
(c) 6cm 8mm = 68mm

(d) 86km 500m = 8600 m + 500m = 86,500m
(e) 83 mm =8cm 3mm

(f) 5km =5000 m =5,00,000cm

(g) 2m 35cm =235cm

(h) 8m = 800cm = 8,000mm

(i) 11cm 7mm =117mm

Q2. Fill in the blanks.



(a) 5,000g = 5kg

(b) 3,000g = 3kg

(c) 15,000g = 15kg

(d) 7,000g = 7kg

(e) 31kg =31,000g

(f) 12kg 50g = 12,0508
(g) 2,000g = 2kg

(h) 74kg 750g = 74,7508
(i) 45kg 265g = 45,265g

Q3. Paul takes 10bags of onions. Each bag has 8kg of onions. What is the total weight of the
onions?

Solu. Total bags =10
Weight of each bag = 8kg
Weight of 10bags = 8 x 10 = 80kg

Q4. Convert these units.

(a) 12L=12000mL

(b) 30,000mL=30L

(c) 7L 77mL=7,077 mL
(d) 5,567mL=5L567 mL
(e) 5L525mL =5525mL

(f) 43,655mL =43 L 655 mL
(g) 15L22mL =15,022mL
(h) 43,670mL =43 L 670 mL
(i) 7,000mL=7L

Q5. Harika is using 10 cups of water to prepare a dish. She is using approximately 1L of water.
(a) 1L (b) 10L (c) 100L

Q6. Raghav is watering the plants. There are 20 plants in the garden. He uses approximately 20L of
water.

(a) 200L (b) 20L (c)2L
Q7. A bottle of soft drink is shared equally among 5 friends. Each of them will get 500mL of the drink.

(a) 500mL (b) 5mL (c) 5,000mL



Q8. Kanika was squeezing oranges to make orange juice. She extracted approximately 50mL of juice
from 5 oranges.

(a) 50mL (b) 500mL (c) 5,000mL

Q9. A fire truck was extinguishing fire in a building. It uses approximately 5,000L of water to stop the
fire.

(a) 50L (b) 5,000L (c) 5L
Q10. Write the time of each activity in the 24-hour format.

(a) Woke up at 7:20a.m 7:20hours

(b) Had breakfast at 10:15a.m 10:15hours

(c) Went to market with her mother at 2:30 pm 14:30hours
(d) Went to play with her friends at 5:10p.m 17:10 hours
(e) Returned home at 7:00p.m 19:00 hours

Q11. Murali and his parents board the bus to Rohtang from Manali at 9:30a.m. The bus journey lasts
for 3hours 17 minutes. At what time do they reach Rohtang?

Solu. 9 hours 30minutes + 3hours 17minutes = 12: 47p.m

Q12. The Christmas vacation of a school starts on 24" December and lasts for 18 days. On which date
will the school reopen?

Solu. 24" December to 31° December = 8days
1% January to 10" January = 10 days

Total vacation days = 10 + 8 = 18days

School will reopen = 11* January

Q13. Fill in the blanks.

(a) The leap year comes after every 4 years.

(b) The year 1996 is leap year. (Yes/No) Yes.

(c) The leap years between the years 2000 and 2020 are 3.

(d) Ann was born in the year 2008 on the 28" of February. Is that a leap year? No



HARI VIDYA BHAWAN

CHAPTER-9 & 10
MATHEMATICS (Revision worksheet — 1)
Class - 5t
Date: 14-12-2020

Instructions:

e Perimeter of a rectangle = 2 x (Length + Breadth) /or 2 x Length + 2 x
Breadth
e Perimeter of a square = 4 x length of a side



Q2. What length of wood is needed to frame a square picture of side 25cm ?

Q3. A square park has a jogging track around its boundary. The total length of the track is
200m. What is the length of each side of the track?

Solu. Total length of the track = 200m
Length of each side = 4 x side
200 = 4 x side
Side =200 + 4 = 50m

Q4. Pinki is decorating the border of her saree with lace. The saree is 6m long and 1.5m wide.
What is the length of the lace she requires?

Solu. Lace required for saree border =2 x (6 + 1.5)

=2x7.5=15m

e AREA OF Rectangle = Length x Breadth
e AREA OF Square = Side x side

Q5. Find the area of these shapes.
(a) Asquare of side 40m.
Area of square =40 x 40 = 1600m

(b) A rectangle of length 16cm and width 8cm.
Area of rectangle =16 x 8 = 128cm

Q6. A square wall clock has a perimeter of 200cm.
(a) What is the length of the side of clock?

Solu. Perimeter of clock = 200cm

Perimeter of square = 4 x length of side

200 = 4 x Length of side



200 = 4 = Length Of side
Length of side = 50cm

(b) What is the area of the clock?

Q7. Mr Sharma has to paint the four walls of his room. Each wall is 6m long and 4m wide.
What is the total area he has to paint?

Q8. The area of a rectangular playground is 150 square metres and its width is 10m. What is
the length of the field?

Solu. Area of playground = 150
Breadth = 10m

Length =?

Q9. Find the cost of painting a wall at Rs. 4 per square metre if the wall is 9m long and 6m
high.



e VOLUME OF CUBOID = LENGTH X BREADTH X HEIGHT
e VOLUME OF CUBE = SIDE X SIDE X SIDE

Q10. Find the volume of

(a) A cuboid of length 10cm, breadth 6cm and height 4cm.
Solu. Volume of cuboid =LxB x H
Volume of cuboid = 10 x 6 x 4 = 240 cubic cm

(b) A cube of side 12cm.

Solu. Volume of cube = Side x Side x Side

Volume of cube =12 x 12 x 12 = 1728 cubic cm

Q11. A carpenter decides to make a wooden box of length 20cm, width 20cm, and height
15cm. What would be the volume of the wooden box?

Solu. Volume of cuboid =L xB x H
Volume of cuboid = 20 x 20 x 15 = 6000 cubic cm

Q12. A container is 10m long, 8m wide and 5m high. It is filled with sand to a height of 3m.
find the volume of the sand.

Solu. Volume of sand = 10 x 8 x 3 = 240 cubic m

Q13. A box in the shape of a cube has an edge of 12cm. How much space is available in the
box?

Solu. Volume of cube =S xS xS
Volume of cube =12 x 12 x 12 = 1728 cubic cm
Q14. How much mud is needed to fill a pit 6m deep, 6m wide and 6m long?

Solu. Volume of pit =6 x 6 x 6 = 216 cubic m



